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The Associative Property of Addition

Examples:  2 + 5 + 5 = 12          3 + 6 + 2 = 11
                (2 + 5) + 5 = 12        (3 + 2) + 6 =11

                  2 + (5 + 5) =12        3 + (6 + 2) = 11

Use the Associative Property of Addition to rewrite the following problems. 
10 + 5 + 5 = 20                  6 + 2 + 2 = 10 
10 + (5 + __) = 20            (6 + __) + 2 = 10
(__+5) + 5 = 20                 6 + (2 + __) = 10
20 + 30 + 50 = 100            75 + 15 + 10 = 100         

(20 + 30) + __ = 100         __ + (15 + 10) =100
20 + (30 + 50) = ___        75 + ___ = 100
Add parentheses to the following addition sentences to demonstrate the Associative Property. Follow the directions to place the parentheses.
1 + 3 + 4 = 8    (show four plus four)
5 + 6 + 9 = 20   (show five plus fifteen)

2 + 3 + 3 + 10 = 18   (show five plus thirteen)

2 + 3 + 3 + 10 = 18   (show six plus two plus ten)
